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Booming | Transitional| Stable Transitional | Sluggish
Z2EEIBR(4y) Total Score 453845 | 37-324% | 31-234% 22-1745% 16-94%
1[E'BvE H 452k Scores of Component Indicators 5485 4 5 345 P 145
BT EMIB (% yoy)
Monetary Aggregates M1B «— 17 — 105 — 6 — 2 —
W% {EfEEk
Stock Price Index «— 225 — 115 — -2 — 22 —»
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Industrial Production Index «— 11 — 8 — 35 — -1 —
FERERPIFEASL
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iR, SR REC(E
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Manufacturing Sales Index «— 11 — 85 — 3 — -1 —
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Sales of Trade and Food Services <« 9 — 7 — 45 — 0 —
BLER TR HEEES 2l (2006=100)
The TIER Manufacturing Sector Composite Indicator | «—— 1045 — 101 — 965 — 915 ——>

it - LIRS EEREABEMEEEARE (2006=100) 71 » HEREERIA S -

2. EERIE BRI B B IEFETNEE

Notes: 1. Individual Componenets and check points are in terms of pecentage changes over 1-year span, except that
the TIER Manufacturing Sector Composite Indicator is points (2006=100).

2. All components, except stock price index. have been seasonally adjusted.
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